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..................................................................................................... [1]
State two input devices which automatically capture data.
T TN VERMOPISY. o < - TR E AR (s N SRS [1]
B i R N R SR R B A [1]
(i)

[1]
[1]

(iii) ge of using device 1 in the application you have
....................................................... [1]

2 (a) What is the number 8 { bi

(b) Change the hexadecimal 4AFB gfuivalent. Show your working.

-------------------------------------------------------------
-------------------------------------------------------

----------------------------------------------------------------
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3 A computer system is using sensors to monitor and control a chemical process as
shown in the diagram below.
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A digital alarm clock is controlled by a microprocessor. It uses the 24 hour clock
tem, (ie 6pm is 18:00). Each digit in a typical display is represented by a 4 digit

binary code.
F

or example

Vo

(a) Whatti
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1%t digit (0)
27 digit (8)
31 digit (3)
4% digit (5)

own on the clock displayed, if the 4 — digit binary codes are:
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(c)
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4

2
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[1]

(b) What would be stored in t( inary codes if the clock display time

1%t digit

2 digit

3 digit

4t digit
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The figures below show two types of cards used by customers of Rowland bank.

Rowland Bank PLC \ / Rowland Bank PLC \

- 4317443334681

43217443334521 /

Card A Card B
(a) ard A and Card B.
iia A I T B —— [1]
3 L e —————————————— [1]
(b) Give

............................................................................................. [1]
(c) Give two adva rd A over Card B.

Advantage 1: ... ‘ ..................................................... [1]

Advantage 2: .cccevese P esssssesseissssssantissnossssnnassersonssssnnannasinssnneenesse 1]
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The screenshot below shows a user interface of an operating system. Use it to
answer the questions that follow.

(a)

(b)

()

(d)

Name this of operating system interface.

............................... ‘ 1]
Give two functiovperating system.
Function 1:........9........ :

Function 22 ....ccevieeiivienenenns

-----------------------------------------------
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Complete the truth table for the following logic circuit.

OR D

X
7
|

9

INPUT | INPUT | OUTPUT | OUTPUT | OUTPUT
B Cc E F D
0 0 0 0 1
1 1 0 0 0
2 0 0 0 0
3 0 1 0 0 0
4 1 0 0 0 1 1
5 1 0 1 0 0 0
6 1 1 0
7 1 1 0 1

[4]

0
2
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The diagram below shows a local Area Network (LAN). Use it to answer questions
that follow.

B COMPUTER 4
PRINTER SERVER X

. W

TERMINATOR
O

’ COMPUTER 2 ’ COMPUTER 3 }

(a) Give one adyantage of this type of topology?
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9 The diagram shows the stages of the system development life cycle used when
developing a new system.

Evaluation

/[

(a)

(b)

Implementation ] Problem identification ]

Complete the table w
implementation.

\ /

Design 1&/ [ Analysis J

age should the Action plan be worked out?

ich shows differént methods of

Method Cost Advantage

Parallel High system fails, the old one can be

Pilot Medium : s only one department is
affected.

Phased Medium | If the trial s‘-syst ils the rest of the
system will still

Direct

[2]
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Study the flowchart below and answer the question that follows.

O o)
Q,

®L‘
/

Error! Not a valid link. /

O

Rewrite the algorithm using pseudocode.
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11  The figure below shows part of a spreadsheet used to keep attendance records at
Sukulu Secondary School.
A B C D E
1| Name Learner Id | Possible Actual Percentage of
Attendance | Attendance | Attendance
Mweemba | G12R164576 | 66 60
da
atel | G12R164579 | 66 55

(a)

ibe one method that can be used by grade teachers to verify learner

.......................................................................................

[1]

that would be used in Cell E3 to calculate the percentage

........................................................................... [1]
12 to show statistics for some provinces in a country.
REF | NAME OF PUL‘I‘;ON IN NUMBER OF HOUSES
PROVINCE MILIO IN MILLIONS
MT | MOUNTAIN 0.2
FS | FOREST 0.35
VY | VALLEY 1.5
ML | MINERAL A
WR | WATER 1. 0.81
WD | WOOD 5.1 3.1
(a) Explain what Primary key m
................................................................................................ [1]
(b) How many records are shown in the'database above?
...................................................... e
(c) The following search condition was ente
population (million) <1.3) AND num
Using REF only, write down the records found.
................................................................................ 2]
(d) Name one validation method for number houses <.
............................................................................................. [1]
Computer Studies/7010/1/2016 nover
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ion B
Read the following scenario carefully and use it to answer the questions
t follow.

G owner of a small general shop wants to install a computerised stock control
All stock control has been done manually until now. The owner is the only
pef ho works in the shop.

i e example of a problem statement and an objective statement from
I f a system.

(b) During the analysi , the systems Analyst will gather information to
study the curren tem. ribe two fact finding methods the analyst
would use to study t i
oy [ DY, A .«
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0 (if) State two effects of the proposed system on the user.

he analysis stage, the analyst will make use of the following system flow
chart symbols and statements.

Statements
Manual 1 Owner enters the numbers of the
input current stock.

Store of current stock balances

Calculation of stock balances using
calculators and check if re-order levels
have been reached

Use the symbols and the state @ ded to outline the data flow in the
current system.

.......................................................
....................................................................
.............................................................
.................................................................
.......................................................................
..........................................................................

-------------------------------------------------------------------------------




